
 

HOT STUFF 

Draw a line to match the calculation to the correct answer – make sure to show 

your workings! 

567 x 23    22,572  

694 x 35   13,041 

418 x 54   11,718 

279 x 42   24,290 
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You may have to do more than just multiply for this question! 

Insert the correct symbol <, > or = to complete each number statement. 

507 x 27    465 x 16  

259 x 36    513 x 18 



 

HOT STUFF 

ANSWERS 

567 x 23    22,572  

694 x 35   13,041 

418 x 54   11,718 

279 x 42   24,290 

 

 

 

 

 

65,751 

26 x 18 = 468 seats. 

468 – 70 = 398 

398 people watch the 

movie. 

Insert the correct symbol <, > or =  

to complete each number statement. 

507 x 27  >  465 x 16  

13,689      >   7440 

259 x 36  =  513 x 18 

  9324       =    9324 
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